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you no longer need. Don’t keep your room
filled with items untouched for more than six

months. If you haven’t used an item in six
months, it likely means you won't use it again!
If you remove unnecessary items, you can
keep your room nice and neat.
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M: Good morning, students. This is your vice

principal, Mr. Gunning. I have an announcement
regarding our ‘Spring Flower Photo Day’ event
this afternoon. As you know, we planned to
take pictures of beautiful spring flowers as we
walk around our neighborhood.

inform you that the event is canceled due to

[ regret to

heavy rain. I understand you've been looking
forward to it, but unfortunately it appears we
won't be able to get the best photos today.
We will reschedule the event for a sunny day
in the near future. Please understand that this
decision was made to ensure that the event
will be a success.

W:

M:

M:

* Yes.

I've just finished setting up my booth to sell
used items. How does it look?

Wow!
banner hanging under the roof. People can see
it well.

Everything looks nice, especially the

: I think so, too. I also hope people like this

striped dress in the corner.

I bet they will. What about the wooden box
here? Is it a used one, too?

To make it look better, I put some
flowers in it.

They really catch the eye. Also, the shoes on

the table look almost new.

: I haven’t worn them much because they are a

bit small for me. So I've decided to sell them.
The guitar beside the table is almost new, too.
Oh, I like it the most. I hope you can sell
everything you prepared!

vice principal 27¢

regarding ~°l| #3t

banner HjY, 714k
striped &54¢]
bet &steh, W71E Aot
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W: Liam, what’s that bunch of paper in your
hand?

M: It’s a deck of flashcards for memorizing new
words, but it doesn’t work well for me.

W: Really? Why not? I think flashcards are helpful
for learning vocabulary.

M: I thought so, too. But looking at the word on
one side of the card and the meaning on the
back is too boring.

W: Hmm, how about using them In a more
interesting way?

M: A more interesting way to use flashcards?
What do you mean?

W: Ask a friend to read the meaning on the back,
and you shout out the word as the answer.

M: Oh, you mean like asking and answering
questions in a quiz?

W: That’'s right. By using flashcards for quizzes,
you can learn new words while having fun.

M: I like your idea a lot. I'll give it a try!

bunch %<

deck (F}=) 3 |
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M:

Hello, I'm Charlie Goodman, your
speaker today. I'll be discussing the most
effective way to maintain an organized room.
Let’s start by reflecting on the items in your
room. Do you really use everything every day?
Probably not. The most important thing to do
to keep a clean room is to get rid of things

10

everyone.

W: We're almost done with our report on climate
change. Why don’'t we check it together to see
if everything is okay?

M: That's a good idea. Are you sure we included
every graph we made?

W: Yes, they are all there in the report. They
clearly show the causes of climate change that
we've researched.

M: Good to hear that. How about the pictures?
We've chosen the five best pictures.

W: They look very convincing. What do you think
about the part discussing the students’
awareness? Many of our friends participated in
our survey.

M: The survey results show that many students
know how serious it is. How about the action
plans?

W: We have two action plans here, but I think we
need more. Could you send me the data from
our research?

M: Sure. I'll send the data this afternoon.

convincing A52o] 3=
awareness $14], 9]

action plan 2% A&
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W:

M:

W:

Honey, how about getting a pizza from Toby's
Place for dinner?

Sounds great! Let’s try the new delivery app
that I downloaded recently. /[Pause/ Hmm...
How about a potato pizza?

I like that idea. How much is one large potato
pizza?




